}, solve 2x — 3 < 3 where x has the dom
Hﬂa ‘

%éQuaﬁon -%— 4+ 8x > Bx — —g—, xe 2

fli-2x_9-3r 3

—~,x e N.
- p-- 5 +4,

- x, which satisfy the inequation :
él%, x e N.

tion set on the number line.

the solution set of %x-—ZiS—~1 > 1. Also graph the solution

ne, if ﬁossible.

. . "6, where x is a positive odd integer.

5.--‘Ei:-3-, where x is positive even integer.

-

€ L solve the inequation and graph the solution on the number

+—= > 2

o
3
3,

4. 5.6, 7 9}, find the values of

for which
X + 4.
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